## Research Article

# New Inequalities of Shafer-Fink Type for Arc Hyperbolic Sine 

## Ling Zhu

Department of Mathematics, Zhejiang Gongshang University, Hangzhou 310018, China
Correspondence should be addressed to Ling Zhu, zhuling0571@163.com
Received 2 July 2008; Revised 25 September 2008; Accepted 17 November 2008
Recommended by Martin J. Bohner
In this paper, we extend some Shafer-Fink-type inequalities for the inverse sine to arc hyperbolic sine, and give two simple proofs of these inequalities by using the power series quotient monotone rule.

Copyright © 2008 Ling Zhu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

Mitrinović in [1, page 247] gives us a result as follows.
Theorem 1.1. Let $x>0$. Then

$$
\begin{equation*}
\arcsin x>\frac{6(\sqrt{1+x}-\sqrt{1-x})}{4+\sqrt{1+x}+\sqrt{1-x}}>\frac{3 x}{2+\sqrt{1-x^{2}}} . \tag{1.1}
\end{equation*}
$$

Fink in [2] obtains the following theorem.
Theorem 1.2. Let $0 \leq x \leq 1$. Then

$$
\begin{equation*}
\frac{3 x}{2+\sqrt{1-x^{2}}} \leq \arcsin x \leq \frac{\pi x}{2+\sqrt{1-x^{2}}} . \tag{1.2}
\end{equation*}
$$

Furthermore, 3 and $\pi$ are the best constants in (1.2).
The author of this paper improves the upper bound of inverse sine and obtains (see $[3,4]$ ) the following theorem.

Theorem 1.3. Let $0 \leq x \leq 1$. Then

$$
\begin{align*}
\frac{3 x}{2+\sqrt{1-x^{2}}} & \leq \frac{6(\sqrt{1+x}-\sqrt{1-x})}{4+\sqrt{1+x}+\sqrt{1-x}} \leq \arcsin x  \tag{1.3}\\
& \leq \frac{\pi(\sqrt{2}+(1 / 2))(\sqrt{1+x}-\sqrt{1-x})}{4+\sqrt{1+x}+\sqrt{1-x}} \leq \frac{\pi x}{2+\sqrt{1-x^{2}}} .
\end{align*}
$$

Furthermore, 3 and $\pi, 6$ and $\pi(\sqrt{2}+(1 / 2))$ are the best constants in (1.3).
Malešević in $[5,6]$ obtains the following theorem using $\lambda$-method and computer, respectively.

Theorem 1.4. For $x \in[0,1]$, the following inequality is true:

$$
\begin{equation*}
\arcsin x \leq \frac{(\pi(2-\sqrt{2}) /(\pi-2 \sqrt{2}))(\sqrt{1+x}-\sqrt{1-x})}{(\sqrt{2}(\pi-4) /(\pi-2 \sqrt{2}))+\sqrt{1+x}+\sqrt{1-x}} . \tag{1.4}
\end{equation*}
$$

In [7], Malešević obtains inequality (1.4) by further method on computer. Zhu in [8] shows new simple proof of inequality (1.4), and obtains the following further result.

Theorem 1.5. Let $0 \leq x \leq 1$. Then

$$
\begin{equation*}
\frac{(\alpha+2)(\sqrt{1+x}-\sqrt{1-x})}{\alpha+\sqrt{1+x}+\sqrt{1-x}} \leq \arcsin x \leq \frac{(\beta+2)(\sqrt{1+x}-\sqrt{1-x})}{\beta+\sqrt{1+x}+\sqrt{1-x}} \tag{1.5}
\end{equation*}
$$

holds if and only if $\alpha \geq 4$ and $\beta \leq \sqrt{2}(4-\pi) /(\pi-2 \sqrt{2})$.
Malešević in [6] gives a new upper bound for the inverse sine, and obtains the following result.

Theorem 1.6. If $0 \leq x \leq 1$, then

$$
\begin{equation*}
\arcsin x \leq \frac{(\pi /(\pi-2)) x}{(2 /(\pi-2))+\sqrt{1-x^{2}}} \tag{1.6}
\end{equation*}
$$

In fact, we can easily obtain the following result by the same method in [8].
Theorem 1.7. Let $0 \leq x \leq 1$. Then

$$
\begin{equation*}
\frac{(a+1) x}{a+\sqrt{1-x^{2}}} \leq \arcsin x \leq \frac{(b+1) x}{b+\sqrt{1-x^{2}}} \tag{1.7}
\end{equation*}
$$

holds if and only if $a \geq 2$ and $b \leq 2 /(\pi-2)$.

Combining (1.5) and (1.7) gives the following theorem.
Theorem 1.8. If $0 \leq x \leq 1$, then

$$
\begin{align*}
\frac{3 x}{2+\sqrt{1-x^{2}}} & \leq \frac{6(\sqrt{1+x}-\sqrt{1-x})}{4+\sqrt{1+x}+\sqrt{1-x}} \leq \arcsin x  \tag{1.8}\\
& \leq \frac{(\pi(2-\sqrt{2}) /(\pi-2 \sqrt{2}))(\sqrt{1+x}-\sqrt{1-x})}{(\sqrt{2}(\pi-4) /(\pi-2 \sqrt{2}))+\sqrt{1+x}+\sqrt{1-x}} \leq \frac{(\pi /(\pi-2)) x}{(2 /(\pi-2))+\sqrt{1-x^{2}}} .
\end{align*}
$$

Furthermore, $2,4, \sqrt{2}(4-\pi) /(\pi-2 \sqrt{2})$, and $2 /(\pi-2)$ are the best constants in (1.8).
In this paper, we obtain new lower and upper bounds of arc hyperbolic $\operatorname{sine} \sinh ^{-1} x$, and we show simple proofs of the following two Shafer-Fink-type inequalities.
Theorem 1.9. Let $0 \leq x \leq r$ and $r>0$. Then

$$
\begin{equation*}
\frac{(a+1) x}{a+\sqrt{1+x^{2}}} \leq \sinh ^{-1} x \leq \frac{(b+1) x}{b+\sqrt{1+x^{2}}} \tag{1.9}
\end{equation*}
$$

holds if and only if $a \leq 2$ and $b \geq\left(\sqrt{1+r^{2}} \sinh ^{-1} r-r\right) /\left(r-\sinh ^{-1} r\right)$.
Theorem 1.10. Let $0 \leq x \leq r$ and $r>0$. Then

$$
\begin{equation*}
\frac{(\alpha+2) \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{\alpha+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \leq \sinh ^{-1} x \leq \frac{(\beta+2) \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{\beta+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \tag{1.10}
\end{equation*}
$$

holds if and only if $\alpha \leq 4$ and $\beta \geq\left(\left(1+\sqrt{1+r^{2}}\right)^{1 / 2} \sinh ^{-1} r-2\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}\right) /\left(\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}-\right.$ $\left(\sinh ^{-1} r / \sqrt{2}\right)$ ).

Combining (1.9) and (1.10) gives the following.
Theorem 1.11. Let $0 \leq x \leq r$ and $r>0$. Then

$$
\begin{align*}
\frac{3 x}{2+\sqrt{1+x^{2}}} & \leq \frac{6 \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{4+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \leq \sinh ^{-1} x \\
& \leq \frac{(\beta+2) \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{\beta+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \leq \frac{(b+1) x}{b+\sqrt{1+x^{2}}} \tag{1.11}
\end{align*}
$$

holds, where $2,4, \beta=\left(\left(1+\sqrt{1+r^{2}}\right)^{1 / 2} \sinh ^{-1} r-2\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}\right) /\left(\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}-\right.$ $\left.\left(\sinh ^{-1} r / \sqrt{2}\right)\right)$, and $b=\left(\sqrt{1+r^{2}} \sinh ^{-1} r-r\right) /\left(r-\sinh ^{-1} r\right)$ are the best constants in (1.11).

## 2. Two lemmas

Lemma 2.1 (see [9-11]). Let $a_{n}$ and $b_{n}(n=0,1,2, \ldots)$ be real numbers, and let the power series $A(t)=\sum_{n=0}^{\infty} a_{n} t^{n}$ and $B(t)=\sum_{n=0}^{\infty} b_{n} t^{n}$ be convergent for $|t|<R$. If $b_{n}>0$ for $n=0,1,2, \ldots$, and if $a_{n} / b_{n}$ is strictly increasing (or decreasing) for $n=0,1,2, \ldots$, then the function $A(t) / B(t)$ is strictly increasing (or decreasing) on $(0, R)$.

Lemma 2.2. The function $F(t)=(t \cosh t-\sinh t) /(\sinh t-t)$ is increasing on $(0,+\infty)$.
Proof. Let $F(t)=(t \cosh t-\sinh ) /(\sinh t-t):=A(t) / B(t)$, where $A(t)=t \cosh t-\sinh t$, $B(t)=\sinh t-t$. Since

$$
\begin{equation*}
A(t)=\sum_{n=1}^{\infty} a_{n} t^{2 n+1}, \quad B(t)=\sum_{n=1}^{\infty} b_{n} t^{2 n+1} \tag{2.1}
\end{equation*}
$$

where $a_{n}=(1 /(2 n)!)-(1 /(2 n+1)!)$ and $b_{n}=1 /(2 n+1)!>0$. We have $a_{n} / b_{n}=2 n$ is increasing for $n=1,2, \ldots$, and $F(t)$ is increasing on $(0,+\infty)$ by Lemma 2.1.

## 3. Simple proofs of Theorems 1.9 and 1.10

Since (1.9) and (1.10) hold for $x=0$, the existence of Theorems 1.9 and 1.10 is ensured when proving the results as follows.

Proposition 3.1. Let $0<x \leq r$. Then

$$
\begin{equation*}
\frac{(a+1) x}{a+\sqrt{1+x^{2}}} \leq \sinh ^{-1} x \leq \frac{(b+1) x}{b+\sqrt{1+x^{2}}} \tag{3.1}
\end{equation*}
$$

holds if and only if $a \leq 2$ and $b \geq\left(\sqrt{1+r^{2}} \sinh ^{-1} r-r\right) /\left(r-\sinh ^{-1} r\right)$.
Proposition 3.2. Let $0<x \leq r$. Then

$$
\begin{equation*}
\frac{(\alpha+2) \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{\alpha+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \leq \sinh ^{-1} x \leq \frac{(\beta+2) \sqrt{2}\left(\sqrt{1+x^{2}}-1\right)^{1 / 2}}{\beta+\sqrt{2}\left(\sqrt{1+x^{2}}+1\right)^{1 / 2}} \tag{3.2}
\end{equation*}
$$

holds if and only if $\alpha \leq 4$ and $\beta \geq\left(\left(1+\sqrt{1+r^{2}}\right)^{1 / 2} \sinh ^{-1} r-2\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}\right) /\left(\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}-\right.$ $\left(\sinh ^{-1} r / \sqrt{2}\right)$.

Proof of Propositions 3.1 and 3.2. (1) By Lemma 2.2, we have that the double inequality

$$
\begin{equation*}
2=F\left(0^{+}\right) \leq F\left(\sinh ^{-1} x\right) \leq F\left(\sinh ^{-1} r\right)=\frac{\sqrt{1+r^{2}} \sinh ^{-1} r-r}{r-\sinh ^{-1} r} \tag{3.3}
\end{equation*}
$$

holds for $x \in(0, r]$. Then Proposition 3.1 is true.
(2) By the same way, we obtain that

$$
\begin{equation*}
\lambda=4=2 F\left(0^{+}\right) \leq 2 F\left(\frac{1}{2} \sinh ^{-1} x\right) \leq 2 F\left(\frac{1}{2} \sinh ^{-1} r\right)=\mu \tag{3.4}
\end{equation*}
$$

holds for $x \in(0, r]$, where $\mu=\left(\left(1+\sqrt{1+r^{2}}\right)^{1 / 2} \sinh ^{-1} r-2\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}\right) /\left(\left(\sqrt{1+r^{2}}-1\right)^{1 / 2}-\right.$ $\left.\left(\sinh ^{-1} r / \sqrt{2}\right)\right)$. So the proof of Proposition 3.2 is complete.

Remark 3.3. From the left of the double inequality (3.1), one can obtain the inequality $3 \sinh t /(2+\cosh t) \leq t$ for $t \geq 0$, which can be found in [12].

## References

[1] D. S. Mitrinović, Analytic Inequalities, Springer, New York, NY, USA, 1970.
[2] A. M. Fink, "Two inequalities," Univerzitet u Beogradu. Publikacije Elektrotehničkog Fakulteta, vol. 6, pp. 48-49, 1995.
[3] L. Zhu, "On Shafer-Fink inequalities," Mathematical Inequalities \& Applications, vol. 8, no. 4, pp. 571574, 2005.
[4] L. Zhu, "A solution of a problem of Oppeheim," Mathematical Inequalities \& Applications, vol. 10, no. 1, pp. 57-61, 2007.
[5] B. J. Malešević, "One method for proving inequalities by computer," Journal of Inequalities and Applications, vol. 2007, Article ID 78691, 8 pages, 2007.
[6] B. J. Malešević, "An application of $\lambda$-method on inequalities of Shafer-Fink's type," Mathematical Inequalities \& Applications, vol. 10, no. 3, pp. 529-534, 2007.
[7] B. J. Malešević, "Some improvements of one method for proving inequalities by computer," preprint, http://arxiv.org/abs/math.CA/0701020.
[8] L. Zhu, "On Shafer-Fink-type inequality," Journal of Inequalities and Applications, vol. 2007, Article ID 67430, 4 pages, 2007.
[9] M. Biernacki and J. Krzyz, "On the monotonity of certain functionals in the theory of analytic functions," Annales Universitatis Mariae Curie-Skłodowska, vol. 9, pp. 135-147, 1955.
[10] S. Ponnusamy and M. Vuorinen, "Asymptotic expansions and inequalities for hypergeometric functions," Mathematika, vol. 44, no. 2, pp. 278-301, 1997.
[11] H. Alzer and S.-L. Qiu, "Monotonicity theorems and inequalities for the complete elliptic integrals," Journal of Computational and Applied Mathematics, vol. 172, no. 2, pp. 289-312, 2004.
[12] Á. Baricz and L. Zhu, "Extension of Oppenheim's problem to Bessel functions," Journal of Inequalities and Applications, vol. 2007, Article ID 82038, 7 pages, 2007.

